

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			CMQS556 4-Pack		
CQS 1	3	QSCE8CP17	17" Mesh Jumper	\$ 120.00	\$360.00
2	1	QSCE8FR1	72" Long, Reversible Floor Power Entry, Front Fed, 72" Long, Floor Power Entry, Side Fed, Snaps into Side of Power Distribution Housing	\$ 347.00	\$347.00
3	2	QSCE8RD1	Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$66.00
4	2	QSCE8RD2	Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$66.00
5	2	QSCE8RDA	Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$66.00
6	2	QSCE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$66.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
7	4	QSCHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$200.00
			Skipped Option		
8	4	QSCHC15R	15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$200.00
			Skipped Option		
9	6	QSCHCB2	Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$132.00
			Skipped Option		
10	4	QSCHFB1	Flat Bracket (Available in Black Only)	\$ 21.00	\$84.00
11	2	QSCMFM4224P2	42"h x 24"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 519.00	\$1,038.00
			<ul> <li>Skipped Option</li> <li>Grade 1 Textiles - Outside Position 1</li> <li>Skipped Option</li> <li>Grade 1 Textiles - Inside Position 1</li> <li>Skipped Option</li> </ul>		
12	2	QSCMFM4248P2	42"h x 48"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 764.00	\$1,528.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
			01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
13	4	QSCMHC40	40"w x 5"d, Worksurface Support Channel, Use with 54"w Surface, Channel Should be 14" Shorter Than Top, Screws Included, Black Only	\$ 84.00	\$336.00
14	4	QSCMHCL2	28"h x 1.5", Square Corner Leg w/ Leveler	\$ 127.00	\$508.00
			Skipped Option		
15	4	QSCMHLPBB01	1.5"h x 8"w x 1"d, Laminate Gallery Panel Bottom Connecting Bracket, Connectors 2 Laminate End Panels at Bottom w/Screws, Hardware Included	\$ 46.00	\$184.00
			Skipped Option		
16	2	QSCMLEP4263	42"h x 62.30"w, End of Run Double Sided Laminate Gallery Panel, Both Ends Connect to a Laminate Extention Panel, Creates 'T' Configuration, Attaching Hardware Included	\$ 946.00	\$1,892.00
			Skipped Option		
			Skipped Option		
17	1	QSCMLMP4251NC	42"h x 50.30"w, Middle Laminate Gallery Panel Double Sided, w/Base Electrical Cutout, Attaches Inbetween 2 Panels to Create 'X' Configuration, Both Ends are Finished & Does not Connect, Attaching Hardware Included	\$ 918.00	\$918.00
			Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
18	2	QSCMLXPL4242NC	42"h x 42"w, Left, Laminate Straight Extention Gallery Panel End, Connects to Double or Single Sided Connecting Panel on 1 End, Other Side is Finished & Does not Connect, Connecting Hardware Included		\$1,368.00
			Skipped Option Skipped Option		
19	2	QSCMLXPR4242NC	42"h x 42"w, Right, Laminate Straight Extention Gallery Panel End, Connects to Double or Single Sided Connecting Panel on 1 End, Other Side is Finished & Does not Connect, Connecting Hardware Included	•	\$1,368.00
			Skipped Option		
			Skipped Option		
20	2	QSCMPSEG1224	12"h x 24"w, Integrated Privacy Panel, Glass, Top Rail Sits Over Compile Top Trim	\$ 264.00	\$528.00
			Skipped Option		
			CLR Clear Glazed		
21	2	QSCMPSEG1248	12"h x 48"w, Integrated Privacy Panel, Glass, Top Rail Sits Over Compile Top Trim	\$ 339.00	\$678.00
			Skipped Option		
			CLR Clear Glazed		
22	11	QSCMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$187.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
23	4	QSCS1923BBF	23" d, B/B/F Pedestal, Worksurface Supporting	\$ 565.00	\$2,260.00
			Skipped Option WSTD Key Random (STD)		
24	4	QSCSMCP23BFNC	23.875"h x 22.625"d x 15"w, Mobile Box/File w/ 60mm Castors	\$ 829.00	\$3,316.00
			Skipped Option		
			WSTD Key Random (STD)		
25	4	QSCWS2448P	48"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 258.00	\$1,032.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		
26	4	QSCWS2472P	72"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 367.00	\$1,468.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			ALIAS SUBTOTAL: \$ 20,196.00		
•			TOTAL EXTENDED LIST:		\$20,196.00